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QUESTION 1

Refer to the exhibit. 

An engineer is troubleshooting an issue with non-Wi-Fi interference on the 5-GHz band. The engineer has enabled
Cisco CleanAir and set the appropriate traps, but the AP does not change the channel when it detects significant
interference. 
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Which action will resolve the issue? 

A. Enable the Avoid Persistent Non-WiFi interference option 

B. Change the DCA Sensitivity option to High 

C. Enable the Event Driven Radio Resource Management option 

D. Disable the Avoid Foreign AP Interference option 

Correct Answer: C 

 

QUESTION 2

Refer to the exhibit. 

Which action results from executing the Python script? 

A. display the output of a command that is entered on that device in a single line 

B. SSH to the IP address that is manually entered on that device 

C. display the output of a command that is entered on that device 
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D. display the unformatted output of a command that is entered on that device 

Correct Answer: A 

 

 

QUESTION 3

You need to weigh the pros and cons of deploying a premise-based data center versus using a cloud-based data center
deployment. What is an advantage of using a premise-based solution? (Choose two.) 

A. Lower application latency for end users 

B. Easily scalable 

C. Lower capital costs 

D. Reduced deployment times 

E. Increased control over the environment 

Correct Answer: AE 

AE sounds like the only two correct-ish answers in this one, but A is kinda debatable since especially with Work from
home culture / VPN\\'s, it doesn\\'t really matter anymore since you\\'d always connect either to on-prem, or to a cloud
environment. 

 

QUESTION 4

A network engineer is designing a Qos policy for voice and video applications. Which software queuing feature provides
strict-priority servicing? 

A. Class-Based Weighted Fair Queuing 

B. Link Fragmentation 

C. Low Larency Queuing 

D. Automatic Qos 

Correct Answer: C 

 

QUESTION 5

What is one difference between SaltStack and Ansible? 

A. SaltStack uses the Ansible agent on the box, whereas Ansible uses a Telnet server on the box. 

B. SaltStack uses an API proxy agent to program Cisco boxes in agent mode, whereas Ansible uses a Telnet
connection. 
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C. SaltStack uses SSH to interact with Cisco devices, whereas Ansible uses an event bus. 

D. SaltStack is constructed with minion, whereas Ansible is constructed with YAML. 

Correct Answer: D 
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